Mathematics 10
Chapter 1: Measurement

1.1 Imperial Measures of Length

Imperial Abbreviation Referent Relationship
Unit Between Units
Inch in. Thumb length
Foot ft. Foot length 1ft=121in.
L“Ag
Yard yd. Arm span lyd.=3ft
& By 1yd. = 36 n.
=~
=—r
Mile | mi. Distance walked in 20 | 1 mi.=1760 yd.
minutes
1 mi. = 5280 ft.
1mi.=63360in.

Example: Convert the following to inches: ,

2) 3fx |QiN. b) 9ydx 3o . ¢) 5 ft. 6 in. .
| C¢ Lyt 512N 1 b 1]

| | £t
=3pn. =3d . = bb .

Exagp{‘re;((il.in\glﬁtge following to Ee)etz: W{x 5280 F-{: . 40}'{5 | ‘\:t |
yd. o 12
-2 Ft 0S60 . = 3L Et.

Example: Convert the following to yards:
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Example: Add.

a) 2ft.7in. b) 5yd.2 ft.
+3 ft. 6 in. +2¥d 2 ft.
= 51t 13n Tyd. 4ft.
s 5Ft+li; n T lin £ _' ol . 5‘Ft + |‘pt
= < oy
= 65t lin. . 8‘jd “H:
Example: Subtract.
a) 4ft3in. b) 5 yd.
—2ft6in. —3vd.1ft
28t 3in. 2yd - | Ft. |
- bin. lyd + 3Pt - | 5t
28t - 2in. = lyd 2. ft.
£ +12m -3in.
= |8 9ia.
Example:

On the map with a scale of 1:4 750 000, the distance between Seward and

Anchorage in Alaskais © s inches. What is the distance between these two
- towns to the nearest mile?

\"' . = | :}D .
119X 4750000=8 312 900 w{ I I
03 360 A:
=13l mi.
Example:

Ben buys baseboard for a bedroom. The perimeter of the bedroom, excluding
closets and doorway, is 37 ft.

a) What length ofbaseboard is needed m yards and feet?

b) The baseboard material is sold by the yard. It costs $5.99/yd.
What is the cost of material before taxes?

Vo Wawve 10 '\ouﬂ 12 5arok5.
13 x$9.99
4717.87



